1. 12c-17=14+11c
12¢c=31T+11c
c=31

4. 271t-41=27 + 20t
21 t=68 + 20t
t=68

7. 15h+39=78+14h
15 h=39 + 14h
h=39

10. 117e+19=44 + 10e
11 e=25+ 10e
e=25

13. 21n-48=-29 + 20n
21T Nn=19 + 20n

2. 24k +8=51 + 23k
24 k=43 + 23k
k=43

5. 129 +38=103 +11q

12g=65+11qg
g=65

8. 14h -47=26 + 13h
14 h=73 +13h
h=73

11. 23j-16=21 + 22]
23j=37 + 22]
j=37

14. 23c+27=61 + 22c
23 c=34 + 22c

3. 23r-5=-4 + 22r
23 r=1+ 22r
r=1

6. bw - 42 =-41 + 5w
6w=1+ 5w

w =1

9. 12u-30=0+11Tu

12u=30+11u
u=30

12. 18d+6=34 +17d
18d=28+17d
d=28

15. 20y -31=26 + 19y
20y=57 + 19y




